
Soustraction de Nombres Entiers (B)Utilisez la stratégie d’un nombre entier pour trouver chaque question.75 - (-24) = 84 - 95 = (-21) - (-15) = 
(-51) - 38 = (-44) - (-20) = 50 - 49 = 
(-46) - (-67) = (-88) - 77 = (-61) - 20 = 
75 - 30 = (-76) - 29 = (-50) - 87 = 
(-59) - (-4) = (-14) - (-30) = (-2) - (-98) = 
81 - (-77) = 74 - 6 = (-41) - 41 = 
(-95) - 65 = (-30) - (-86) = 11 - (-82) = 
(-19) - 14 = 84 - (-67) = 10 - (-45) = 
7 - (-72) = 53 - (-26) = (-8) - (-59) = 
(-63) - 40 = (-92) - 61 = 62 - 38 = 
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